HALLOWEEN

WORD PROBLEMS #2

M Solve the following word problems.
LY 4

At a Halloween party, 6 kids are dressed as pirates, 5 kids
are dressed as ghosts and 3 kids are dressed as princesses.
How many kids are at the party in all?

There are 15 scary masks at the Halloween store when it
opens. By the end of the day, there are only 8 scary masks
left. How many masks have been sold?

Brian goes trick-or-treating around his neighborhood for
45 minutes. His friend Robert trick-or-treats for an hour.
Which boy takes longer to trick-or-treat?

Linda returns home with 18 candies in her trick-or-treat
bag. She gives half of the candies to her brother Eric. How
many candies does Linda have left?

There are 20 students in a Halloween parade. The
teacher lets 12 of the students wave flags, and the rest of
the students sing a song. How many students sing?
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